°% 1" ES,

102 2| X[+

0| &

100D =
1003 =

1004 =

218 x 1079 =
100D =

632.2 x 100 =
7x100% =
2782+ 10* =
452.6 107 =

—2x10=

=LA e

—2x 10" =
1002 =
620+ 1072 =
4 x10% =
1002 =

1004 =

4x 1000 =
1004 =
1003 =

1x10% =
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°% 1" ES,

102] 29| X|¢=

0| =.

.

1077 =0.1

107 = 0.001

107 = 0.0001

218 x 107 = 0.0218
1079 = 0.1

632.2 x 1077 = 0.06322
7% 107" = 0.0007
2782+ 10° = 2.782
452.6 + 107 = 452600

—2x10=-20

R}
—2x10°=-2
1072 = 0.01
620 + 1072 = 62000
4 x 10* = 400
107% = 0.01
107 = 0.0001
4x10°Y =04
107 = 0.0001
107 = 0.001

1 x10% =100
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